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ampl 512.3+6.9
ped 2.66+ 0.08
sig

Gem=A_U strip=106 cut=b |

7.029 + 0.063

10°

10?

AU106b
Entries 9245
Mean 4.714
RMS 40.13
X2 / ndf 30.74 /34
ampl 507.7+6.8
ped  0.6925+0.0781
sig 7.099 + 0.063

AU108b
Entries 9245
Mean -4.091
RMS 38.68
X2/ ndf 42.09/36
ampl 493+6.5
ped -7.937+ 0.080

sig 7.29+ 0.06

Gem=A_U strip=109 cut=b |

800 1000

1000

Gem=A_U strip=110 cut=b | AU110b Gem=A_U strip=111 cut=b |
Entries 9245 3
Mean -0.5709 10
RMS 43.61
X2/ ndf 49.6/35

........... ampl 496.5+6.7

ped -5.066 + 0.079

10?

10

:4 sig

7.231+ 0.065

AUI11b
Entries 9245
Mean 10.71
RMS 44.35
X2/ ndf 44.44 | 36
ampl 505.3+ 6.8

5.895+ 0.077

3

10

10?

AU109b
Entries 9245
Mean 2.55
RMS 40.88
X2/ ndf 33.59/35
ampl 509.9 £ 6.8
ped -1.701+ 0.077

sig 7.068 + 0.062

400 600

800




Gem=A_U strip=112 cut=b | AU112b Gem=A_U strip=113 cut=b | AU113b Gem=A_U strip=114 cut=b | AU114b
Entries 9245 3 Entries 9245 Entries 9245
E et Mean 7.14 10 Mean 3.216 -1 Mean 21.37
E RMS 43.91 RMS 42.18 RMS 40.49
R X2/ ndf 5211/34 |  prococpeeeees X2/ ndf 32.36/35 X2/ ndf 28.63/35
I | I S A S ampl 4985+6.7 [ [T ampl 510+6.8 ampl 478.4+6.4
ped 2.336+ 0.079 ped -1.469+ 0.077 ped 17.12+0.08
10 sig 7.183+0.064 107 sig 7.051+ 0.060 10° sig 7.52+0.07

ofan e as

0 200 400 600 800 1000 200 400 600 800 1000 0 200 400 600 800 1000

Gem=A_U strip=115 cut=b | AU115b Gem=A_U strip=116 cut=b | AU116b Gem=A_U strip=117 cut=b | AU117b
Entries 9245 3 Entries 9245 3 Entries 9245
Mean 6.175 10 Mean 4.725 10°E ] Mean 1.65
RMS 45.19 RMS 40.07 F RMS 40.97
.......... X2/ ndf 44.39/34 S IO 21X Indf 5824138 Co : 1 x2 7 nat 31.49/35
L....H.... ampl 513.4+6.8 |  [..... T .. et ampl 481.2+6.4 ... ... .. .. ] ampl 513.9+6.9
ped 1.117+0.077 ped  0.3815+0.0808 ped -2.617+ 0.076
10? sig 6.995 + 0.060 10? 7.433+ 0.063 10% | sig 7.005 + 0.062

10

f 3 il AR ARk i
0 200 400 600 800 1000 800 1000 0 200 400 600 800 1000
Gem=A_U strip=118 cut=b | AU118b Gem=A_U strip=119 cut=b | AU119b
Entries 9245 Entries 9245
Mean -1.15 Mean 14.28
RMS 41.73 RMS 39.71
_________ X2/ ndf 41.04/38 X2/ ndf 43.3/36
I S, ampl 475.6+6.4 ampl 488.5+6.6
ped -5.423+ 0.083 ped 10.01+ 0.08
10? 14 sig 7.539 + 0.066 sig 066

10




Gem=A_U strip=120 cut=b | AU120b Gem=A_U strip=121cut=b ] AU121b Gem=A_U strip=122 cut=b | AU122b
Entries 9245 3 Entries 9245 Entries 9245
Mean 4.068 10" g Mean -1,613 E 777 Mean 14.49
RMS 40.35 RMS 42.28 E RMS 44.02
X2/ ndf 57.93/39 X2/ ndf 39.32/37 C 1x2/ndf 53.09 / 40
ampl 4742+ 6.4 R I ampl 489.416.6 | DR -eeei.o-{ampl 443.6+6.0
ped  -0.05585+ 0.08174 ped -6.146 + 0.080 : ped 9.855 + 0.089

10° E sig 7546 + 0.067 sig 7.326 + 0.064 10° = sig 8.092 + 0.073

10k

Gem=A_U strip=123 cut=b | AU123b Gem=A_U strip=124 cut=b | AU124b Gem=A_U strip=125 cut=b | AU125b
Entries 9245 Entries 9245 Entries 9245
""" -1 Mean 0.1994 Mean 4.175 .- ---1 Mean 13.83
‘1 RMS 41.59 RMS 42.69 RMS 46.13
X%/ ndf 80.13/38 IR X%/ ndf 57.16 /39 X2/ ndf 238743
ampl 468.2+6.5 L ampl 459+ 6.4 ampl 410.7+6.1
ped -4.455 + 0.084 ped -1.229+ 0.084 ped 4.787 + 0.093
10? sig 7.559 + 0.072 10° sig 7.637+0.072 10°E 7.943 + 0.083

H
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10 10F

: 1
i b :
0 200 400 600 800 1000 800 1000 0 200 400 600 800 1000
Gem=A_U strip=126 cut=b | AU126b Gem=A_U strip=127 cut=b | AU127b
Entries 0 Entries 9245
Foe--- PR RREREEEEE: we----e------ 4 Mean 0 F: --1 Mean 3.454
RMS 50.33
102 X2/ ndf 43.48/38
""" : i 1 ampl 362.9+5.4
10 ped -11.69+ 0.10
Sig 086

10

10

I I/ I D
0 200 400 600 800 1000




Gem=A_U strip=128 cut=b |

AU128b

10°

Entries

8968
-17.88
49.08
396.1/67
220.3+3.5
-25.2+0.2
15.39+0.21

Gem=A_U strip=129 cut=b ]

400 600

10?

10

AU129b

Entries 8968
Mean -12.12
RMS 45.1
X2/ ndf 175.7 1 48
ampl 334+4.8
ped -17.5+ 0.1

sig

Gem=A_U strip=130 cut=b |

600

0 200 800 1000 200 400
Gem=A_U strip=131 cut=b | AU131b Gem=A_U strip=132 cut=b |
Entries 8968
F Mean 0.1415
E RMS 45.99
u X2/ ndf 196 / 46
SRRt | RERE ampl 389357 o Fe e
, ped -5.575+ 0.100
10°E sig 8.738 + 0.090

103+0.1

10°E

10k

AU130b

Entries 8968
Mean -0.9683
RMS 46.4
X2/ ndf 47.28/38
ampl 430.7+5.9
ped -6.422 + 0.091
sig

8.058 + 0.076

400 600

1
800 1000
AU132b Gem=A_U strip=133 cut=b | AU133b

Entries 8968 Entries 8968
Mean -0.4081 = Mean 1.254
RMS 39.88 F RMS 41.64
X%/ ndf 23.41/37 u X2/ ndf 40.24/35
ampl 4433+ 6.1 I ampl 450+ 6.2
ped -4.59+ 0.09 ped -3.132+0.088

7.864+ 0.073 10° 7.759 + 0.074

400 600

0 200 800 1000 200
Gem=A_U strip=134 cut=b | AU134b Gem=A_U strip=135 cut=b |
Entries 8968
Mean 0.8834
RMS 39.93
X2/ ndf 38.13/39
ampl 440.8+ 6.0
ped -3.31+ 0.09
10 :1sig 7.897 + 0.071 10?

10

10

sig

800 1000
AU1350
Entries 8968
Mean 5.818
RMS 44.46
X2/ ndf 35.98/37
ampl 463+6.4
ped 1.038+ 0.084

069

sig
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Gem=A_U strip=136 cut=b |

102 E

0 200 400 600 800 1000

AU136b

Entries 8968

1711 Mean -1.976

‘1 RMS 39.24

-] x2/ndf 25.4 /37
evi...] ampl 448.4+ 6.2
ped -6.172+ 0.087

sig 7.775 + 0.072

Gem=A_U strip=137 cut=b

10?

AU137b
Entries 8968
Mean 9.955
RMS 42.16
X2/ ndf 59.22 /37
ampl 461.9+6.4
ped 5.572+ 0.084

sig

7.542 + 0.069

Gem=A_U strip=138 cut=b |

Gem=A_U strip=139 cut=b |

10°

10

i g
0 200 400

600 800 1000

AU139b
Entries 8968
Mean 11.33
RMS 38.42
X%/ ndf 62.37/36
ampl 480.2+ 6.5
ped 7.374+0.080
sig 7.246 + 0.064

Gem=A_U strip=140 cut=b

10% =

0 200 400

AU138h
Entries 8968
Mean -1.588
RMS 43.15
X2/ ndf 31.99/36
ampl 451.1+6.2
ped -5.976+ 0.087
sig 7.743+ 0.071

10?

Gem=A_U strip=142 cut=b |

10°

10

AU142b

Entries 8968
Mean -0.7972
RMS 44,02
X2/ ndf 4217133
ampl 478.6 + 6.6
ped -5.456 + 0.082

14 sig 7.265 + 0.068

Gem=A_U strip=143 cut=b

800 1000
AU140b Gem=A_U strip=141 cut=b | AU141b

Entries 8968 3 Entries 8968
Mean 6.447 10 Mean 0.3591
RMS 41.6 RMS 43.31
X2/ ndf 30.53/38 X2/ ndf 43.97/35
ampl 470.1+ 6.4 N . ampl 486.6+6.7
ped 2.323+0.082 ped -4.158 + 0.080
102 sig 7.164 + 0.066

7.427+ 0.067

800 1000

AU143b
Entries 8968
Mean 3.493
RMS 43.35
X2/ ndf 39.04/35
ampl 485.3+ 6.6
ped -1.341+ 0.080

sig

063

0 200 400

800

1000




Gem=A_U strip=144 cut=b

10°

AU144b

Entries 8968
Mean 6.89
RMS 44.56
X2/ ndf 61.32/36
ampl 470.7+ 6.5
ped 2.119+ 0.082
sig

7.361+ 0.068

Gem=A_U strip=145 cut=b ]

10?

AU145b
Entries 8968
Mean 9.795
RMS 38.69
X2/ ndf 28.62/35
ampl 491.6+6.7
ped 5.987 + 0.079

Sig 7.129+ 0.063

Gem=A_U strip=146 cut=b |

10%

AU146b
Entries 8968
Mean 11.46
RMS 39.68
X2/ ndf 56.76 / 35
ampl 486.9+6.7
ped 7.691+ 0.080

7.167 + 0.066

Gem=A_U strip=147 cut=b

10°

AU147b
Entries 8968
Mean 15.76
RMS 36.61
x?/ ndf 47.14/35
ampl 4744+ 6.5
ped 12.13+0.08
sig

Gem=A_U strip=148 cut=b |

7.369 + 0.067

10?

AU148b
Entries 8968
Mean 8.578
RMS 40.19
X%/ ndf 42.01/36
ampl 479.6+6.5
ped 4.269 + 0.081

sig 7.278+ 0.064

Gem=A_U strip=149 cut=b |

600

i ‘H1: -

0 200 400 600 800 1000 200 400

Gem=A_U strip=150 cut=b | AU150b Gem=A_U strip=151 cut=b |
Entries 8968
= Mean 0.5201
E RMS 38.11
IR DR X2/ ndf 25.62 /34
I B ampl 491.1+ 6.6
ped -3.298+ 0.080
107 14 sig 7.129 + 0.062

10

800 1000
AU151b
Entries 8968
Mean 6.625
RMS 41.24
X2/ ndf 50.51/35
ampl 4735+ 6.6
ped 2.42+0.08

sig

069

10%

AU149b
Entries 8968
Mean 5.568
RMS 35.3
X2/ ndf 51.02/35
ampl 478.6£6.6
ped 2.108+ 0.081

7.284 + 0.067

sig
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Gem=A_U strip=152 cut=b | AU152b Gem=A_U strip=153 cut=b |
Entries 8968
E Mean 9.707 E
E RMS 36.58
[ X2/ ndf 34.71/34
I | IR ampl 489.2+6.7
ped 6.227 + 0.080
10 sig 7.153 + 0.065

AU153b
Entries 8968
Mean 14.06
RMS 39.25
X2/ ndf 46.94 /37
ampl 463.8+6.4
ped 10.02 + 0.08

sig 069

Gem=A_U strip=154 cut=b

7.514+0

AU154b

10% |

Entries 8968
Mean 2.73
RMS 44.22
X2/ ndf 37.91/35
ampl 478.4£6.5
ped -2.029+ 0.082

Sig 7.294 + 0.066

Gem=A_U strip=155 cut=b

10°

AU155b

Entries 8968
Mean 7.877
RMS 39.38
X2/ ndf 60.26 / 39
ampl 460.8+ 6.3
ped 3.707 £0.083
sig

7.55+0.07

Gem=A_U strip=156 cut=b |

10?

10

AU156b Gem=A_U strip=157 cut=b | AU157b

Entries 8968 Entries 8968
Mean 9.849 Mean 7.933
RMS 34.76 RMS 31.7
X2/ ndf 22.66/35 X2/ ndf 84.97 /39
ampl 471.6+6.4 R ampl 4355+ 6.0
ped 6.659 + 0.083 ped 5.048 + 0.090
sig 10°E

7.448+ 0.068

: 1
0 200 400 600 800 1000 0 200 400 600
Gem=A_U strip=158 cut=b | AU158b Gem=A_U strip=159 cut=b |
Entries 8968
Mean 6.572
RMS 35.98
X2/ ndf 45.39/ 37
ampl 458.2% 6.2
, ped 3.357 £ 0.085
10 :{sig 7.618 + 0.067

10

800 1000
AU1590
Entries 8968
Mean 7.801
RMS 35.87
X2/ ndf 47.16 /39
ampl 427.7+5.9
ped 4.181+ 0.092
sig 8.163+ 0.078

0 200 400

8.006 + 0.076

800 1000




Gem=A_U strip=160 cut=b

10°

10k

AU160b

Entries 8968
Mean 6.283
RMS 41.15
X2/ ndf 45.57 /39
ampl 418.7+5.8
ped 1.892 + 0.093
sig

8.283+ 0.078

Gem=A_U strip=161 cut=b | AU161b

Entries 8968
Mean 22.04
RMS 30.8
X2/ ndf 51.72/42

.......................... ampl 405.2+5.6
ped 17.92+0.10
sig

Gem=A_U strip=162 cut=b |

AU162b

8.576 + 0.080

10%

Entries 8968
Mean 14.93
RMS 37.61
X2/ ndf 33.2/41
ampl 4229+58
ped 11.22+ 0.09
sig

8.253 + 0.075

400 600

0 200 400 600 800 1000 0 200 800 1000
Gem=A_U strip=163 cut=b | AU163b Gem=A_U strip=164 cut=b | AU164b Gem=A_U strip=165 cut=b | AU165b

Entries 8968 Entries 8968 Entries 8968

o Mean 12.6 Mean 10.93 E Mean 10.86

F RMS 35.59 RMS 36.66 E RMS 37.52

- X2/ ndf 45.07 /38 X%/ ndf 42.69/ 40 u X2/ ndf 38.88/39

ampl 4274+59 | Foo .. ampl 438.9+6.0 I | R ampl 432.2+6.0

, ped 9.042 + 0.092 ped 7.327+0.088 ped 7.006 + 0.090

10 sig 8.151+ 0.077 sig 7.949+ 0.072 10° sig 8.055 + 0.076

10

: R A RN i,
0 200 400 600 800 1000 200 400 600 800 1000

Gem=A_U strip=166 cut=b | AU166b Gem=A_U strip=167 cut=b | AU167b
Entries 8968 Entries 8968
o Mean 8.909 Mean 2.773
r RMS 35.67 RMS 37.32
IS | I X2 / ndf 2934/37  Feeeofleeees X2/ ndf 49.2/38
------------ ampl 4445+6.1 ampl 445.8+6.0
ped 5.495 + 0.088 ped -0.732+ 0.087

10? sig 7.865 + 0.072 10? sig

10

10

7.807 + 0.069

i

800




Gem=A_U strip=168 cut=b |

102 E

AU168b

Entries 8968
Mean 20.07
RMS 39.01
X2/ ndf 34.02/36
ampl 446.8+6.1
ped 16.01+ 0.09
sig

Gem=A_U strip=169 cut=b ]

7.795+ 0.071

10°

Gem=A_U strip=171 cut=b |

10°

AU171b
Entries 8968
Mean 15.04
RMS 35.83
X2/ ndf 23.79/36
ampl 460.9+ 6.3
ped 11.34+0.08
sig 7.562 + 0.069

Gem=A_U strip=172 cut=b |

400 600

10?

10

AU169b

Entries 8968
Mean 3.184
RMS 36.7
X2 I ndf 47.02/38
ampl 452.1+ 6.2
ped -0.5687 + 0.0854
sig

7.709+ 0.070

Gem=A_U strip=170 cut=b |

10° E

AU170b
Entries 8968
Mean 11
RMS 37.57
X2/ ndf 33.67/37
ampl 456.2£6.3
ped 7.159 + 0.085
sig 7.653 +0.070

e

AU172b
Entries 8968
Mean 7.132
RMS 36.84
X%/ ndf 36.07 /38
ampl 457.4+6.3
ped 3.517+ 0.085

sig

7.633+ 0.069

Gem=A_U strip=173 cut=b |

H
-r

800 1000

200 800 1000

Gem=A_U strip=174 cut=b | AU174b Gem=A_U strip=175 cut=b |
Entries 8968 3
Mean 8.774 10
RMS 36.64
X2/ ndf 50.82 /37
ampl 457663 | L. Mo

' ped 5.368 + 0.085
10 11 sig 7.632 + 0.070 10 =

10

AU175b
Entries 8968
Mean 4.852
RMS 30.36
X2/ ndf 46.98/36
ampl 479.6 £ 6.5
ped 2.071+ 0.081

sig 73+01

10?

AU173b
Entries 8968
Mean 11.29
RMS 34.81
X2/ ndf 48.23/36
ampl 4711+ 6.4
ped 7.88+0.08
sig

7.411+ 0.066
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Gem=A_U strip=176 cut=b |

10° |

AU176b
Entries 8968
Mean -0.2079
RMS 34.56
X2/ ndf 53.83/38
ampl 455.3+ 6.2
ped -3.369+ 0.085
sig 7.648 + 0.069

Gem=A_U strip=177 cut=b ]

10?

AU177b

Gem=A_U strip=179 cut=b |

10°

AU179b
Entries 8968
Mean 4.916
RMS 37.74
X2/ ndf 41.73/36
ampl 4779+ 6.5
ped 1.32+0.08
sig 7.325 + 0.065

Gem=A_U strip=180 cut=b |

i I 3:
0 200 400 600

Entries 8968
Mean 6.25
RMS 38.03
X2/ ndf 38.67/33
ampl 484 +6.7
ped 2.467 + 0.082

sig

7.22+ 0.07

Gem=A_U strip=178 cut=b | AU178b
Entries 8968
Mean 5.918
RMS 35.74
X2/ ndf 43.23/39
ampl 457+6.2
ped 2.649 + 0.084

10°

sig 7.635 + 0.067

200 400 600

AU180b
Entries 8968
Mean 13.17
RMS 35.89
X%/ ndf 60.04 / 39
ampl 4259+58
ped 9.909 + 0.092

8.168 + 0.074

800 1000

AU183b

800 1000
Gem=A_U strip=182 cut=b | AU182b Gem=A_U strip=183 cut=b |
Entries 8968
F Mean 6.267
- RMS 40.41
I I, X2/ ndf 35.08 /40
I | E ampl 4189+5.8
ped 2.59+ 0.09
10° sig

10

8.33+ 0.08

10

Entries 8968

454+ 6.2
-0.8899+ 0.0858

7.692+ 0.071

Gem=A_U strip=181 cut=b | AU181b
Entries 8968
E Mean 9.795
F RMS 38.15
L X2/ ndf 54.63/37
PN | R ampl 463.6 6.4
ped 6.218 + 0.084

10%

7.555+0.070

sig

200 400 600 800 1000



Gem=A_U strip=184 cut=b | AU184b
Entries 8968
o Mean -2.65
r RMS 39.44
3 X2/ ndf 90.6 / 46
o | R ampl 393455
ped -6.037 + 0.098
sig

10% |

0 200 40

0

600 800

8.812+ 0.081

Gem=A_U strip=185 cut=b ] AU185b
Entries 8968
Mean 7.556
RMS 35.69
X2/ ndf 50.42 / 40
------ ampl 419.7+58
102 gizd 4.208+ 0.093

10

Gem=A_U strip=186 cut=b

8.317+ 0.077

400 600 800

107

AU186b
Entries 8968
Mean -2.796
RMS 38.03
X2/ ndf 90.77 1 46
ampl 376.5+5.2
ped -6.234+0.103
sig 9.207 + 0.085

1000 0 200 1000
Gem=A_U strip=187 cut=b | AU187b Gem=A_U strip=188 cut=b | AU188b
Entries 8968 Entries 8968
F Mean -2.96 Mean -0.4821
L RMS 40.5 RMS 44.88
3 x?/ ndf 56.08 / 42 X%/ ndf 97.82/47
R | R ampl 400756 | gt ampl 368.1+5.3
) ped -6.785+ 0.097 ped -4.434+ 0.105
10° sig 8.624 + 0.082 sig 9.313+ 0.094

600 800

Gem=A_U strip=189 cut=b

0 200 400 1000 0 200 400 600 800 1000
Gem=A_U strip=190 cut=b | AU190b Gem=A_U strip=191 cut=b | AU191b
Entries 0 Entries 0
LR E L LR R EE Mean 0 L L L CEE PR N Mean 0

10°

10

]
10° 0 20070

R

‘500800

1000

10"

0 200 40 500 800 1000

10?

10k

AU189b
Entries 8968
Mean -9.526
RMS 44,58
X2/ ndf 329.5/58
ampl 308.1+ 4.8
ped -15.48+ 0.12
sig 10.5+0.1

800 1000
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Gem=A_V strip=0 cut=b ] AV000b
Entries 9279
o Mean -23.93
L RMS 21.33
3 X2/ ndf 77.64 /63
R ampl 235+ 3.3
SOl HH H S 11 ped -23.98+ 0.18

Sig

149+ 0.2

Gem=A_V strip=1cut=b |

10°

0 200 400 600

Gem=A_V strip=3 cut=b

10% |

10k

400 600 800 1000
| AV003b Gem=A_V strip=4 cut=b |

Entries 9279

Mean -0.1699 | 0 Frrrriesciies

RMS 19.21

X%/ ndf 51.33/43

ampl 3934+54 | Feeeeleee e

ped -1.234+0.103

sig

9.291+ 0.089

400 600 800

AV001b
Entries 9279
Mean -18.49
RMS 23.25
X2/ ndf 84.03 /49
ampl 358.4+4.9
ped -18.97+0.11
sig

Gem=A_V strip=2 cut=b ]

10.1+ 0.1

AV002b

10°E

0 200 400 600

10

Entries
Mean
RMS
X2/ ndf
ampl
ped

sig

9279

-5.693

20.96
65.29/43
407.4+55
-6.629+ 0.098
8.959+ 0.081

800 1000
AV004b Gem=A_Vstrip=5cut=b |
Entries 9279
Mean 2.072 o
RMS 17.86 F
X%/ ndf 58.19/ 44 L
ampl 406.9+5.5
ped 1.38+0.10 ,
9.004 + 0.082 10°E

& : A MAARH L | BARARNA A AR SRR

1000 0 200 400 600 800 1000
AV006b Gem=A_V strip=7 cut=b | AV007b
Entries 9279 Entries 9279
Mean 3.413 Mean 9.642
RMS 20.68 RMS 20.78
X2/ ndf 45,741 41 X2/ ndf 39.14 /43
ampl 414.8+56 ampl 413.3%55
ped 2.323+0.098 ped 8.576 + 0.097
sig 8.845 + 0.083 i

sig 8.89+ 0.08

800 1000
AV005b
Entries 9279
Mean 2.784
RMS 15.85
X2/ ndf 41.52/42
ampl 4123+£55
ped 2.024 +0.097

8.893 + 0.079
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Gem=A_V strip=8 cut=b

10% |

AV008b

Entries 9279
Mean 15.31
RMS 19.01
X2/ ndf 56.79/ 44
ampl 406.7+5.4
ped 14.38+0.10
sig

400 600

Gem=A_V strip=11 cut=b

9.021+ 0.079

Gem=A_V strip=9 cut=b ] AV009b
Entries 9279
Mean 13.18
RMS 15.18
-qt- X2/ ndf 38.97/42
------------ [EEERERERRE [E:1yilsll 407.2+5.4
: : ped 12,55+ 0.10

2
10 sig 082

9.034+ 0

0 200 400 600 800 1000

10°

Gem=A_V strip=10 cut=b ] AV010b
Entries 9279
F Mean 5.656
F RMS 14.29
L X2/ ndf 30.81/42
ampl 420.8+5.6
ped 5.046 + 0.095

10%

sig

8.727 + 0.078

200 400 600 800 1000

800 1000
AV011b Gem=A_V strip=12 cut=b | AV012b

Entries 9279 Entries 9279
Mean 4.938 Mean 16.36
RMS 19.39 RMS 16.42
X2/ ndf 57.31/41 X%/ ndf 48.19/40
ampl 429.9+5.8 ampl 420.4+5.6
ped 4.056 + 0.093 ped 15.67 + 0.10
sig 8.726 + 0.078

8.512+0.076

400 600

Gem=A_V strip=14 cut=b

0 200 400 600 800 1000

10°

10

4 sig

800 1000
AV014b Gem=A_V strip=15 cut=b | AV015b
Entries 9279 Entries 9279
Mean 9.041 Mean 5.364
RMS 16.52 RMS 16.4
X2/ ndf 46.23/41 X2/ ndf 36.39/41
ampl 427.1+5.6 ampl 434.4+58
ped 8.416 + 0.094 ped 4.781+ 0.092
8.592 + 0.075 sig

8.446 + 0.076

0
Gem=A_V strip=13 cut=b | AV013b

Entries 9279

Frocrorroomooomeoiooois Mean 1.887

F RMS 12.39

- -4 x?/ ndf 27.2138

Feeens A EEEEERRE e i---{ ampl 439.6+5.9

10% |

10k

ped 1.355+ 0.093

'l EFREE ERREF AT EECERRRE] STEECRE &,
200 400 600 800 1000



Gem=A_V strip=16 cut=b | AV016b Gem=A_V strip=17 cut=b | AVO017b Gem=A_V strip=18 cut=b ] AV018b

Entries 9279 Entries 9279 Entries 9279

Mean 11.9 B Mean 5.001 F=- 211 Mean 4.116

RMS 14.67 RMS 17.95 F RMS 16.28

X2/ ndf 53.37/42 - --] x2/'ndf 36.73/40 I X2/ ndf 48.08 /41

I | e i...{ampl 424556 | Feeeeiflieeeeees e i...{ampl 425+ 5.7 ampl 427357
: : ped 11.43+ 0.09 : : : ped 4.277+ 0.095 ped 3.507 + 0.094

10* sig 10* sig 10°E sig

8.598 + 0.078

8.624 + 0.073 8.631+ 0.079

0 200 400 600 800 1000 0 200 400 600 800 1000 0 200 400 600 800 1000
Gem=A_V strip=19 cut=b | AV019b Gem=A_V strip=20 cut=b | AV020b Gem=A_V strip=21 cut=b | AV021b
Entries 9279 Entries 9279 Entries 9279
3 Mean -0.01846 Mean 4.216 3 ] Mean 5.664
F RMS 13.26 RMS 16.98 F RMS 15.69
[l .. i X2 I ndf 38.95/42 . X2 I ndf 33.18/41 L . 1 x2/ndf 40.67 1 42
L.... ... ceeeeie..{ ampl 4419+59 | L. .- ceeeenio.{ ampl 4295+58 IR | R .. .. .1 ampl 436.7+5.8
ped -0.4032 ¢ 0.0895 ped 3.621+ 0.094 ] ped 5.099 + 0.091
10° sig 8.307+ 0.071 10 sig 8.568 + 0.078 10° sig 8.396 + 0.073

10

il Tl Sl et i | ol Tl el el el ol el
0 200 400 600 800 1000 800 1000 400 600 800
Gem=A_V strip=22 cut=b | AV022b Gem=A_V strip=23 cut=b | AV023b
Entries 9279 Entries 9279
Mean 8.996 Mean 6.639
RMS 16.13 RMS 19.6
X2/ ndf 41.38/39 X2/ ndf 31.09/39
ampl 443+5.9 ampl 435.7+5.8
ped 8.381+ 0.091 ped 5.799+ 0.093

10°

1Sl 8272+0.073 sig

8.469+ 0.078

10




Gem=A_V strip=24 cut=b | AV024b Gem=A_V strip=25 cut=b | AVO025b Gem=A_V strip=26 cut=b ] AV026b

Entries 9279 Entries 9279 Entries 9279
F Mean 16.38 B Mean 9.904 F -1 Mean 8.426
F RMS 17.17 RMS 13.92 F RMS 15.17
I X2/ ndf 32.12/41 - --] x2/'ndf 37.23/42 I X2/ ndf 45.64 | 40
ampl 427957 |  Feeeeipbeeeaaes e i...{ampl 425.7+5.7 ampl 428.6+5.8
ped 15.61+ 0.09 : . ped 9.338+ 0.094 ped 7.833+0.094

10° E sig sig 10° sig

8.566 + 0.079

8.575+ 0.076 8.626 + 0.077

Gem=A_V strip=27 cut=b | AV027b Gem=A_V strip=28 cut=b | AV028b Gem=A_V strip=29 cut=b | AV029b
Entries 9279 Entries 9279 Entries 9279
Mean 15.13 Mean 15.43 - - -1 Mean 24.74
RMS 14.88 RMS 13.64 E RMS 16.56
Y| -] x?/ ndf 55.08 / 41 gt X? / ndf 42.64/ 40 F : -1 X2 I ndf 45.65/ 42
----- ceeeei---{ ampl 4292+ 57 - ceeeeni--o{ ampl 420.2+56 S P : ampl 4136+55

ped 15.04 + 0.10
sig

ped 14.56 + 0.09

ped 24.15+ 0.10
sig i

sig 8.884 + 0.080

10°

8.528 + 0.074

8.724 % 0.079 10°E

PRl il
1000

Pl il
1000 800

bty
800

0 400 600 800
Gem=A_V strip=30 cut=b | AV030b Gem=A_V strip=31 cut=b | AV031b
Entries 9279 Entries 9279
Mean 21.89 F: e 111 Mean 4.183
RMS 17.97 RMS 17.36
X2/ ndf 45.51/42 X2/ ndf 40.14 1 42
ampl 411.8+5.5 F ampl 419.4+5.6

ped 21.27+0.10 3.468+ 0.095

sig 8.901+ 0.080

10°




Gem=A_V strip=32 cut=b | AV032b
Entries 9279
F Mean 7.535
r RMS 18.42
- - -{ x2 / ndf 48.61/45
SEEEEE L EEPPER EERPP : ampl 387.4+53

: : ed

107 gig 6.765 + 0.104

9.419 + 0.088

Gem=A_V strip=33 cut=b | AVO033b
Entries 9279
Mean -3.188
RMS 15.77
- X2/ ndf 45.05/ 45
SEERS | EEERRRER [EEERERERRE [E:1yilsll 403.5+5.4
107 giegd -3.85+0.10

9.067 + 0.081

Gem=A_V strip=34 cut=b ] AV034b
Entries 9279
F Mean 3.962
F RMS 15.94
I X2/ ndf 44,53/ 42
- ampl 406.1+ 5.4
) ped 3.358 + 0.099
10°E sig 9,013+ 0.081

Gem=A_V strip=35 cut=b | AV035b
Entries 9279
F Mean 0.4548
r RMS 15.49
Feeee ol -{ x2/ ndf 57.97/ 44
Moo 1 ---e-i---1 ampl 406.4+ 5.4
) ped -0.158+ 0.098
10°E sig 9.013+ 0.081

il
800

rir ] i
1000

Gem=A_V strip=36 cut=b | AV036b
Entries 9279
Mean -5.031
RMS 18.47
X2/ ndf 42.81/43
ampl 4143+£55
ped -5.849+ 0.096
sig 8.854 + 0.078

200 400 600

AV038b

Entries 9279
Mean -15.69
RMS 17.22
X2/ ndf 41.35/41
ampl 412+ 55
ped -16.39+ 0.10
sig

8.924 + 0.082

800 1000

Gem=A_V strip=39 cut=b | AV039b
Entries 9279
Mean 3.119
RMS 21.15
X2/ ndf 40.39/42
ampl 419.9+5.6
ped 2.105+ 0.095
sig

8.735+ 0.078

Gem=A_V strip=37 cut=b | AV037b
Entries 9279
E Mean 2.209
E RMS 19.38
L X2/ ndf 33.6/42
L.. ampl 417.2+55
ped 1.356 + 0.096

10?

8.809 + 0.078

sig

0 200 400 600 800 1000



Gem=A_V strip=40 cut=b ] AV040b
Entries 9279
o Mean -0.2948
r RMS 24.45
3 X2/ ndf 51.14/ 42
i | R ampl 416.9+5.5
10° | giegd -1.65+ 0.10

Gem=A_V strip=41 cut=b

8.774+0.077

10?

AV041b
Entries 9279
Mean 5.814
RMS 24.14
X2/ ndf 44.01/40
ampl 429.3+58
ped 4,171+ 0.093
sig

Gem=A_V strip=42 cut=b

Gem=A_V strip=43 cut=b |

10°

AV043b
Entries 9279
Mean 3.416
RMS 29.65
X? / ndf 36.22/ 40
ampl 422+56

ped
sig

0.8801+ 0.0951

Gem=A_V strip=44 cut=b

10

800

8.596 + 0.077

1000

8.487 + 0.077

10% =

| AV042b
Entries 9279
Mean -3.877
RMS 30.72
X2/ ndf 50.12/ 42
ampl 4209+5.6
ped -6.415+ 0.095
sig 8.642 + 0.076

10?

400 600

Gem=A_V strip=46 cut=b |

10°

AV046b

Entries 9279
Mean 0.8327
RMS 35.16
X2/ ndf 75.62 /42
ampl 404.8+5.5
ped -2.658+ 0.099
sig

8.919 + 0.082

Gem=A_V strip=47 cut=b

AV044b
Entries 9279
Mean 7.436
RMS 31.21
X%/ ndf 57.1/43
ampl 4155+5.6
ped 4.494 + 0.095

8.677 + 0.077

Gem=A_V strip=45 cut=b

10

800 1000

AV047b
Entries 9279
Mean -7.016
RMS 33.62
X2/ ndf 40.48 1 42
ampl 415.8+5.6
ped -10.36+ 0.10
sig

8.707+ 0.077

10% |

0 200

| AV045b

Entries 9279
Mean -9.118
RMS 37.55
X2/ ndf 38.16 / 40
ampl 4222+57
ped -12.94+ 0.10

8.556 + 0.078

400 600 800 1000



Gem=A_V strip=48 cut=b |

10°

AV048b
Entries 9279
Mean -3.246
RMS 39.5
X2/ ndf 50.82 /43
ampl 398.5+5.4
ped -7.374+0.100
sig 9.048 + 0.083

Gem=A_V strip=49 cut=b

600

200 400

Gem=A_V strip=51 cut=b |

10?

10

200

400 600

10°

10

10t b2

AVO050b

Entries 9279
Mean -1.036
RMS 18.82
X2/ ndf 258.4 /57
ampl 317.3£4.7
ped -2.53+0.12
sig

10.86+ 0.12

400 600

800 1000

AV051b Gem=A_V strip=52 cut=b |
Entries 0
Mean 0
0

L L P
200 400

Gem=A_V strip=54 cut=b |

800

Ll
1000

10°

1 sig

200
AV054b
Entries 9279
Mean 9.994
RMS 38.22
X2/ ndf 87.13/45
ampl 394.3+55
ped 5.659 + 0.100

9.084 + 0.088

800 1000
AV053b

Entries 9279
Mean 9.007
RMS 41.68
X2/ ndf 36.14 /41
ampl 404.7+55
ped 4.219+0.099
sig

AV049b Gem=A_V strip=50 cut=b ]
Entries 9279
Mean 5.214 F
RMS 40.38 I
Xx? / ndf 49/39 I '
ampl 4229+57 R R
ped  0.9288+ 0.0950 102k
8.513 + 0.080
10
1
800 1000 200
AV052b Gem=A_V strip=53 cut=b |
Entries 9279
Mean 5.258 E
RMS 38.76 L
X* / ndf 52.61/42 -
ampl 400.1£5.5 +
ped  0.8466 + 0.1000 )
sig 8.975+ 0.085 10°E
10k
1
800 1000 200
AVO055b
Entries 9279
Mean 7.685
RMS 37.09
X2/ ndf 41.751 44
ampl 405+5.5
3.577 + 0.097
082

400

600

800

1000




Gem=A_V strip=56 cut=b |

AV056b

10° |

10k

0 200 40

Gem=A_V strip=59 cut=b |

0

600

Entries
Mean
RMS
X2/ ndf
ampl
ped
sig

9279

-0.9417

36.3

51.87/43
395.7+54
-4.995+ 0.100

Gem=A_V strip=57 cut=b |

9.052 + 0.085

10?

400 600

107 E

0 200 40

Gem=A_V strip=62 cut=b |

0

AVO057b
Entries 9279
Mean 5.78
RMS 38.62
X2/ ndf 65.37 / 46
ampl 388.1+ 5.3
ped 1.335+ 0.100
sig

Gem=A_V strip=58 cut=b

9.139+ 0.085

10 E

10E

| AV058b
Entries 9279
Mean 5.974
RMS 40.03
X2/ ndf 59.19/43
ampl 395.3+5.4
ped 1.029 + 0.100
sig 8.954 + 0.082

600

800 1000 200
AV059b Gem=A_V strip=60 cut=b |

Entries 9279

Mean 191

RMS 42,51

X%/ ndf a772/43  of

ampl 381.3+52 | [t

ped -3.364+ 0.104 )

sig 10

9.184 + 0.085

400 600

200

10°

10

800 1000 0 200 400 800 1000
AV060b Gem=A_V strip=61 cut=b | AV061b

Entries 9279 Entries 0
Mean -2.82 e Mean 0
RMS 44.72
X2 / ndf 64.03/ 47 102
ampl 356.7 £ 5.0 E
ped -9.809 + 0.109
sig 9.659 + 0.094

800 1000
AV062b Gem=A_V strip=63 cut=b |
Entries 0
Mean ol  F--

]
10° 0 20070

R

‘500

500

1000

10"

800 1000
AV063b
Entries 0
Mean 0

200 40 500"

Ll

too0—

10

1012

0 200

200 600 800 1000



10°

Gem=A_V strip=65 cut=b |

Gem=A_V strip=64 cut=b | AV064b
Entries 9281
F Mean -21.39
L RMS 50.81
L X2/ ndf 481.2/72
ampl 243.4+3.9
ped -30.56+ 0.16
sig 13.49+0.17

10

200

400 600

H
-r
-r

10?

AVO065b
Entries 9281
Mean -14.54
RMS 49.29
X2/ ndf 4259/ 42
ampl 404.8+5.5
ped -20.84+ 0.10
sig

Gem=A_V strip=66 cut=b ]

200 400 600

8.83+ 0.08

107

10k

400

10° |

Gem=A_V strip=67 cut=b | AV067b
Entries 9281
F Mean -3.702
L RMS 50.1
3 x?/ ndf 32.65/39
R | G ampl 409.1% 5.6
ped -10.14+ 0.10
sig 8.73+ 0.08

Gem=A_V strip=68 cut=b |

400

10?

400 600

0 200

10°

AV066b
Entries 9281
Mean 4.263
RMS 48.57
X2/ ndf 76.29 1 45
ampl 370.5+5.2
ped -2.154+0.108
sig 9.596 + 0.095

1
800 1000 0 200
AV068b Gem=A_V strip=69 cut=b |
Entries 9281
Mean 10.96 F T
RMS 48.9 o
X%/ ndf 42.48 /42 L
ampl 402.7+55 SRR { SRR
ped 4.854 + 0.099 10t
8.882 + 0.082 E

800 1000

200 600 800 1000
Gem=A_V strip=70 cut=b | AV070b Gem=A_V strip=71 cut=b |
Entries 9281
o Mean 20
r RMS 44.66
3 X2/ ndf 29.98/ 44
ampl 401.5% 5.4
ped 14.61+ 0.10
sig 8.966 + 0.079

10

AV071b
Entries 9281
Mean 14.47
RMS 46.66
X2/ ndf 64.66 / 45
ampl 380.1+ 5.2
ped 8.872+ 0.104

086

10k

200

400

600 800 1000
AV069b
Entries 9281
Mean 12.22
RMS 47.64
X2/ ndf 33.68/43
ampl 382.2+£5.2
ped 6.341+ 0.105
sig 9.341+0.087

Foll Il el e el i
600 800 1000



Gem=A_V strip=72 cut=b

102 E

200

400

Gem=A_V strip=75 cut=b

AVO072b

Entries 9281

1711 Mean 18.49
‘1 RMS 42.83
X2/ ndf 65.39/ 42
ampl 405.3+5.5
ped 13.25+ 0.10

sig 8.825 + 0.080

600 80

Gem=A_V strip=73 cut=b |

10°

10

AV073b
Entries 9281
Mean 6.629
RMS 45.63
X2/ ndf 32.94/43
ampl 389.4+5.3
ped 1.076 + 0.102
sig 086

200 400 600

9.164+ 0

Gem=A_V strip=74 cut=b ] AV074b
Entries 9281
F Mean 17.58
L RMS 475
3 -{ x2/ndf 4557142
SRREEEt | EERPRER e EEEERERRE [:Unlsll 406.6+5.5
102 : ped 11.62+ 0.10
sig 8.832 + 0.080

10k

200 400 600 800 1000

10 E

10k

200

400

Gem=A_V strip=78 cut=b

10°

10

9.26+ 0.09

600 800 1000

10

0 1000
AV075b Gem=A_V strip=76 cut=b |
Entries 9281
Mean 15.48
RMS 46.17
X%/ ndf 36.75/ 44
ampl 386.1+53 |  Feeeeepbeeeeeeded
ped 9.626 + 0.103
sig 10°

AVO076b
Entries 9281
Mean 16.17
RMS 45.81
X2/ ndf 36.89 /41
ampl 411.6+5.6
ped 10.43+0.10
sig 8.696 + 0.079

800

1000

AV078b Gem=A_V strip=79 cut=b |
Entries 9281
Mean 12.9
RMS 43.1
X2/ ndf 41.71/40
ampl 4229+5.7
ped 7.691+ 0.094
sig 8.478  0.076

AV079b
Entries 9281
Mean 9.285
RMS 43.83
X2/ ndf 48.59/ 41
ampl 3945+5.3
ped 3.829+ 0.102
sig 9.079+ 0.085

0
Gem=A_V strip=77 cut=b | AV077b

Entries 9281

Mean 12.08

10° b

10k

RMS 45.37
X2/ ndf 48.87 1 46

..... -- -{ ampl 389.4+5.3

ped 6.623+ 0.101
9.187 + 0.084

sig

200 400 600 800 1000



Gem=A_V strip=80 cut=b

10%

| AV080b

Entries 9281
Mean 16.04
RMS 45.83
X2/ ndf 40.71/ 40
ampl 410.6 5.6
ped 10.47+ 0.10
sig

Gem=A_V strip=81 cut=b

8.759 + 0.082

10°

200

400

Gem=A_V strip=83 cut=b

10° |

| AV083b
Entries 9281
Mean 19.05
RMS 48.63
X2/ ndf 33.57/41
ampl 405.1+5.5
ped 12.85+0.10
sig 8.853 + 0.084

Gem=A_V strip=84 cut=b

AV081b
Entries 9281
Mean 13.42
RMS 44.58
X2/ ndf 38.77 /41
ampl 397.3+£5.4
ped 8.179.+ 0.101
sig 085

600

9.031+ 0

10E

Gem=A_V strip=82 cut=b ] AV082b
Entries 9281
F Mean 17.61
F RMS 46.67
L X2/ ndf 4357141
ampl 413.1+5.6
) ped 11.81+ 0.10
10° sig 8.698 + 0.081

10?

10°

AV084b
Entries 9281
Mean 25.87
RMS 48.7
X2/ ndf 37.49/ 42
ampl 404.9+5.4
ped 19.57+0.10
sig 8.837+0.078

800

1000

200 400 600 800 1000
Gem=A_V strip=86 cut=b | AV086b Gem=A_V strip=87 cut=b |
Entries 9281
Mean 8.87
RMS 49.66
X2/ ndf 43.12/ 42
------------ ampl 4146+ 5.6

ped 2.299 + 0.095 )

i1 sig 8,591+ 0.077 10

AV087b

Entries 9281
Mean 11.88
RMS 57.75
X2/ ndf 39.33/42
ampl 405.9+5.5
ped 3.847+0.097

8.775 + 0.081

1
0 200 400 600 800 1000
Gem=A_V strip=85 cut=b | AV085b

Entries 9281
F Mean 7.82
L RMS 50.29
L X2 I ndf 40.42/ 41
3 ampl 400.4£5.5
) ped 1.315+0.100
10° g sig 8.898 + 0.084

10k

800

1000

0 200 400 600



Gem=A_V strip=89 cut=b

Gem=A_V strip=88 cut=b | AV088b
Entries 9281
F Mean 5.276
F RMS 51.89
L -4 x2/ndf 55.06 / 40
RRREE [ FPPRRE i1 ampl 413.9+5.6
10° giegd 1.738+0.096

10k

0 200 400 600

8.599 + 0.079

AV089b

Entries 9281

10°

Gem=A_V strip=91 cut=b | AV091b
Entries 9281
E Mean 12.71
F RMS 49.09
[ X2/ ndf 44,69/ 41
Feeee- ampl 408.5+5.5
, ped 6.264 + 0.097
10°E sig 8.707 + 0.079

Gem=A_V strip=92 cut=b

10k

Mean 15.99
RMS 47.4
X2/ ndf 54.96 / 4

ceeeeeieeof ampl 396.1+5.4

ped 10.01+ 0.10

Gem=A_V strip=90 cut=b

sig 9+0.1

600 800 1000

AV090b

10%

10E

10?

10

i g
0 200 400 600 800 1000

Gem=A_V strip=94 cut=b | AV094b

Entries 9281

o Mean 15.68

r RMS 48.53

- X2/ ndf 49.98/40

SRRt | SEEEER ampl 4155+5.6

, ped 9.545 + 0.096

10 i sig 8.587 + 0.079

Gem=A_V strip=95 cut=b

10

Gem=A_V strip=93 cut=b

AV092b
Entries 9281
Mean 11.17
RMS 49.56
X2/ ndf 47.37/42
ampl 415.6+5.6
ped 4.742+0.094
sig 8.59 + 0.08

800 1000

10?

10

AV095b
Entries 9281
Mean 13.77
RMS 49.11
X2/ ndf 43.49/ 43
ampl 408.4+5.5
ped 7.284 + 0.096
sig 8.738+ 0.077

Entries 9281
Mean

RMS 50.04
X2/ ndf 49.21/43
ampl 4155+5.6
ped 13.16 % 0.09
sig 8.587+0

107

10k

AV093b

Entries

Mean 16.51
RMS 47.39
X2/ ndf 41.61/44
ampl 398+5.4
ped 10.66+ 0.10
sig 9.018 + 0.082

Foll Il el e el i
800 1000




Gem=A_V strip=96 cut=b

10% =

200

Gem=A_V strip=99 cut=b

AV096b

Entries 9281
Mean -0.5597
RMS 51.5
X2/ ndf 47.97143
ampl 394.2+5.4
ped -7.53+0.10
sig

Gem=A_V strip=97 cut=b

9.04+ 0.08

10°

AV097b
Entries 9281
Mean -2.31
RMS 52.23
X2/ ndf 44.56 1 42
ampl 393.2+5.3
ped -9.271+ 0.101

sig 082

Gem=A_V strip=98 cut=b

9.049+ 0

800 1000

10%

0 200 400

AV098b
Entries 9281
Mean 6.736
RMS 47.55
X2 / ndf 42.34142
ampl 400.7£5.4
ped  0.6092+ 0.0995
sig 8.917 + 0.082

600 800 1000

10% |

800 1000 0 200 400
AV099b Gem=A_V strip=100 cut=b
Entries 9281
Mean 16.53 v
RMS 46.18
X2/ ndf 38.33/43
ampl 379752 |  preecfpeeees
ped 10.64+0.11
sig 10°

9.424+ 0.091

800 1000

AV100b Gem=A_V strip=101 cut=b | AV101b

Entries 9281 Entries 9281
Mean 11.13 F Mean 17.23
RMS 51.33 o RMS 50.08
X2/ ndf 36.01/42 3 X2/ ndf 39.39/42
ampl 391.7+5.3 ampl 396.6+5.4
ped 4.026+ 0.102 ) ped 10.27+0.10

10° g sig 8.99+ 0.08

sig 9.129 + 0.086

800 1000

Gem=A_V strip=102 cut=b AV102b Gem=A_V strip=103 cut=b
Entries 9281
Mean 19.44
RMS 52.33
X2/ ndf 43.46 / 43
ampl 4059155
ped 12.52+0.10 5
10° :{ sig 8.797 + 0.079 10

10

AV103b
Entries 9281
Mean 8.628
RMS 54.08
X2/ ndf 50.71/45
ampl 391.8+5.3
ped 1.448+ 0.100

082

10k

0 200

400

600 800 1000




Gem=A_V strip=104 cut=b ] AV104b Gem=A_V strip=105 cut=b |
Entries 9281
o Mean 17.59
C RMS 51.25
e X2/ ndf 45.7/41

----- i---1ampl 404.7+55
2 ped 10.76 + 0.10
10 sig 8.771+ 0.080 10°

10k

AV105b
Entries 9281
Mean 14.33
RMS 50.58
X2/ ndf 41.45142
ampl 400.4£5.4
ped 7.53+0.10
sig

200 400 600

8.919 + 0.081

Gem=A_V strip=106 cut=b | AV106b
Entries 9281
F B Mean 10.96
L RMS 52.02
3 X2/ ndf 4229/ 44
R { I ampl 397.9%53
102 ped 4.067 +0.099
sig 8.977 + 0.079

10k

Gem=A_V strip=107 cut=b | AV107b Gem=A_V strip=108 cut=b |
Entries 9281
- Mean 5.014
L RMS 52.32
3 X2/ ndf 56.06 / 39

ampl 4109+56 | gy

, ped -2.028+0.098
0% E sig 8.66 + 0.08
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AV108b Gem=A_V strip=109 cut=b | AV109b

Entries 9281 Entries 9281
Mean 1.279 E Mean -0.414
RMS 52.8 L RMS 49.73
X2/ ndf 50.23/41 5 X2/ ndf 31.16/42
ampl 399.2+54 Foee ampl 402.8+5.5
ped -5.76+ 0.10 , ped -6.907 + 0.099
8.905 + 0.083 10° = sig 8.894 + 0.084
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800

1000

0 1000

Gem=A_V strip=110 cut=b | AV110b Gem=A_V strip=111 cut=b |

Entries 9281

Mean 0.2125

RMS 49.44

X2/ ndf 58.91/43

ampl 3929+53

107 .| ped -6.084+ 0.101

:{slg 9.105+ 0.083

AV111b
Entries 9281
Mean 5.157
RMS 48.49
X2/ ndf 32.62/40
ampl 405+ 5.5
ped -1.09+ 0.10
sig 8.832+ 0.084

0 200 400 600

800 1000




Gem=A_V strip=112 cut=b | AV112b Gem=A_V strip=113 cut=b |
Entries 9281
S 7111 Mean 4.298
: ‘1 RMS 46.08
----- X2 I ndf 46/ 44
----------- i---1ampl 3952+53
2 ped -1.377+0.100
10 sig 9.079 * 0.080 10°

AV113b
Entries 9281
Mean 10.76
RMS 44.35
X2/ ndf 36/42
ampl 406.6 5.5
ped 5.417 + 0.098
sig

Gem

=A_V strip=114 cut=b |

AV114b

600

8.812 + 0.080

10%

10E

Entries
Mean
RMS

X2/ ndf

ampl
ped
sig

9281

8.502

49.04

39.74 /43
394.2+£53
2.579+0.101
9.118+ 0.084

10k
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Gem=A_V strip=115 cut=b | AV115b Gem=A_V strip=116 cut=b |
Entries 9281
F Mean 2.455
o RMS 47.1
3 X%/ ndf 30.73/41
Foeeeqde---- ampl 409.9+55(  preefleee
ped -3.485+ 0.097
10° sig 8.718 * 0,080 10°
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Gem=A_V strip=117 cut=b |

AV116b
Entries 9281
Mean 8.551
RMS 49.07
X2/ ndf 44.89/ 43
ampl 392.3+5.3
ped 2.009 + 0.102
sig 9.129 + 0.086
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Gem=A_V strip=118 cut=b | AV118b Gem=A_V strip=119 cut=b |
Entries 9281
Mean -0.679 o
RMS 46.62
X2/ ndf 41.45/42
ampl 387.1+5.2 r

, | ped -6.701+ 0.104
10°E i sig 9.219+ 0.085 10°

10

10

AV119b
Entries 9281
Mean 1.127
RMS 46.86
X2/ ndf 44.47 1 41
ampl 382.2+5.2
ped -4.666 + 0.106
sig 9.346 + 0.089

107

AV117b
Entries 9281
Mean 8.757
RMS 50.41
X2/ ndf 31.82/41
ampl 403.4+5.4
ped 2.401+ 0.099

sig

8.876 + 0.080

800




Gem=A_V strip=120 cut=b ] AV120b Gem=A_V strip=121 cut=b | AV121b Gem=A_V strip=122 cut=b | AV122b
Entries 9281 Entries 9281 Entries 9281
F Mean -13.08 TIIIT -] Mean -5.993 T 7-:] Mean -3.16
Lo ‘IRMS 48.65 RMS 45.85 RMS 43.7
RN HIp - -1 X2/ ndf 36.81/ 44 RN | SEARRE -+1 x2/ndf 54.99 / 45 - - “1 X2/ ndf 55.43/ 46
3 e i---1ampl 3816+52 |  proocfpreeeeees R i---1ampl 370.2+5.1 P peree srericeryampl 370.8%5.1
107 : ped -19.07+0.11 107 : : ped -11.22+0.11 10? : ped -8.105+ 0.107
sig 9.404 + 0.087 sig 9.66 + 0.09 E sig 9.652 + 0.091
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Gem=A_V strip=123 cut=b | AV123b Gem=A_V strip=124 cut=b | AV124b Gem=A_V strip=125 cut=b | AV125b
Entries 9281 Entries 9281 Entries 9281
o Mean 4.843 Mean -20.74 F: o -1 Mean -19.17
L RMS 435 RMS 46.95 I RMS 47.73
- X2 / ndf 76.51/ 46 X2/ ndf 48.61 /49 M X2/ ndf 83.97 /49
e L R seeseses-d{ ampl 3649+50 | [T ampl 329.2+45 B ampl 330+ 4.7

ped -25.35+0.12

ped -0.0577 + 0.1083 102
sig 10.39+0.11

102 ped -25.88+ 0.12 10?

sig 10.83+0.10

sig 9.701+ 0.093

10 10
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Gem=A_V strip=126 cut=b | AV126b Gem=A_V strip=127 cut=b | AV127b
Entries 0 Entries 0
Foe--- PR RREREEEEE: we----e------ 4 Mean 0 Fo---- PR RREREEEEE: we--e----e--- 4 Mean 0
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Gem=A_V strip=128 cut=b | AV128b Gem=A_V strip=129 cut=b | AV129b Gem=A_V strip=130 cut=b | AV130b
Entries 9147 Entries 9147 Entries 9147
F Mean -10.5 E: Mean 9.568 F- e -1 Mean 14.15
r 45.88 RMS 40.16 F RMS 36.75
229.3/68 X2/ ndf 264.4 /41 M X2/ ndf 163.4 /47
, 2269+32 | LBl e feeeeeoio. ] ampl 399.8+5.6 R | Foeees sroites1ampl 359.3:£5.0
10 -17.55+ 0.18 , : : : ped 4,881+ 0.102 10 ped 10.04+ 0.11
15.18+ 0.16 10 sig 8.661+ 0.084 sig __ 9.788+0.093

10
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Gem=A_V strip=131 cut=b | AV131b Gem=A_V strip=132 cut=b | AV132b AV133b
Entries 9147 Entries 9147 Entries 9147
Mean 8.13 ::1 Mean 9.53 Mean 9.889
RMS 40.28 RMS 38.43 RMS 39.53
. -} x2/ndf 394.6 /48 X%/ ndf 119.4 /41 X2/ ndf 94.4/39
---------- ceeeeieo{ ampl 381.3+5.9 ampl 404.5+5.6 ampl 4215+58
, ped 3.087 +0.108 ) ped 5.305 + 0.100 ) ped 5.512 +0.095
10 E sig 8.858 + 0.101 10 sig 8.749+ 0.084 10°E 8.398 + 0.080
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Gem=A_V strip=134 cut=b | AV134b Gem=A_V strip=135 cut=b | AV135b
Entries 9147 Entries 9147
F Mean 10.92 ::] Mean 3.614
r RMS 35.64 : .1 RMS 34.04
- - -1 X2/ ndf 87.23/40 T --1 X2/ ndf 42.8/40
R e :---1ampl 4107+55 | e ‘ : :---1 ampl 433.8+5.9
ped 7.154 +0.097 f ped 0.317 + 0.091

10°

sig 8.642 + 0,079 10? sig

8.202 + 0.076

10




Gem=A_V strip=136 cut=b | AV136b Gem=A_V strip=137 cut=b | AV137b Gem=A_V strip=138 cut=b | AV138b
Entries 9147 Entries 9147 Entries 9147
3 Mean -3.097 Mean -3.748 F Mean 6.527
E RMS 34.3 RMS 31.05 F RMS 30.79
u -] x2/ndf 54.66 / 39 --] x2/'ndf 49.99/ 41 ool (] x%/ndf 81.33/41
I | D e eo..oi...fampl 4323+59 | bl e i---{ ampl 4275+58 I | R . ...t jampl 4356+5.9
, : : | ped -6.293+ 0.091 ) : : ped -6.423+ 0.092 : : ped 3.945 £ 0.090
10° sig 8.215+ 0.077 10 sig 8.309 + 0.076 10 ¢ sig 8.169 + 0.075
10 10
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Gem=A_V strip=139 cut=b | AV139b Gem=A_V strip=140 cut=b | AV140b Gem=A_V strip=141 cut=b | AV141b
Entries 9147 Entries 9147 Entries 9147
E Mean 19.86 Mean 13.99 E Mean 12.3
r RMS 31.24 RMS 32.31 F RMS 30.29
5 X2/ ndf 31.69 /39 X2/ ndf 33.76 /39 [ I x%/ndf 33.9/39
ampl 4172+56 |  preeeefbeeeeees EERRRERRS: B i---1 ampl 431+5.8 boeees .- .- -Jampl 436.5+5.9
, ped 17.11+ 0.10 ) ped 11.15+ 0.09 ped 9.89+ 0.09
10° E sig 8.618+ 0.078 10 sig 8.324+ 0.074 10°E Sig ____8245+0.075
10
1
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Gem=A_V strip=142 cut=b | AV142b Gem=A_V strip=143 cut=b | AV143b
Entries 9147 Entries 9147
Mean 11.62 Mean 5,531
RMS 30.75 RMS 26.82
X2/ ndf 40.43/ 40 X2/ ndf 45.68 /39
ampl 435.7+58 ampl 444.9+6.0
, ped 9.173+ 0.091 ped 3.447+0.089
10 :{Sig 823940072 sig 072

10




Gem=A_V strip=144 cut=b | AV144b Gem=A_V strip=145 cut=b |
Entries 9147
E Mean 6.101 F:
o RMS 30.35
u X2/ ndf 58.07 /41
N | O S A S ampl 4355+59 | Lo
ped 3.78 + 0.09
10* g sig 8.232 + 0.074 10?

10

AV145b
Entries 9147
Mean 9.742
RMS 32.7
X2/ ndf 45.5/39
ampl 4345+58
ped 7.247 £ 0.091
sig 074

Gem=A_V strip=146 cut=b

8267+ 0

AV146b

10% =

Entries 9147
Mean 6.18
RMS 31.79
X2/ ndf 47.39/39
ampl 446+ 6.0
ped 3.695 + 0.089
sig 8.059 + 0.072

1
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Gem=A_V strip=147 cut=b | AV147b Gem=A_V strip=148 cut=b |
Entries 9147
Mean 1983 |  Eiiiiieiziii:
RMS 28.59
X2 I ndf 36.38/40 [LoIiiIfTTIIIL
..... ampl 419.1+ 5.6
ped 17.77+0.10
107 sig 8.601+ 0.077 102
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AV148b Gem=A_V strip=149 cut=b | AV149b

Entries 9147 Entries 9147
Mean 8.055 E Mean 1.716
RMS 29.5 F RMS 29.73
X%/ ndf 50.09 /39 [ x? I ndf 30.73/38
ampl 442.8+6.0 ampl 4487+ 6.1
ped 5.905 + 0.089 ped -0.5093+ 0.0884

8.096 + 0.074 107 sig 7.998+ 0.075

0 200 800 1000
Gem=A_V strip=150 cut=b | AV150b Gem=A_V strip=151 cut=b |
Entries 9147
F Mean 15.24
r RMS 22.64
L x2 I ndf 46.85 /39
SRRRERE | SERERE ampl 423256
ped 13.69+ 0.10 5
10° :{ sig 8516+ 0.076 10

10

800 1000
AV151b
Entries 9147
Mean 18.38
RMS 28.97
X2/ ndf 47.34/41
ampl 409.7 £5.4
ped 16.54 + 0.10
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Gem=A_V strip=152 cut=b | AV152b Gem=A_V strip=153 cut=b | AV153b Gem=A_V strip=154 cut=b | AV154b
Entries 9147 Entries 9147 Entries 9147
F Mean -1.568 EEEE T Mean 0.3053 F -1 Mean 8.3
E RMS 25.54 RMS 20.48 o RMS 24.71
r x2 I ndf 35.32/37 : X2 / ndf 67.3/41 r X2 I ndf 130.7 /40
I - P A NP S ampl 461.1+ 6.3 L....] ST R R ampl 437ax89 [ L b ampl 4329259
ped -3.182+ 0.086 . . . ped -0.7757+ 0.0894 ped 6.82+ 0.09
10? sig 7.772 + 0.072 10? 8.175+ 0.074 10° = sig 8.247 + 0.077

Gem=A_V strip=155 cut=b | AV155b Gem=A_V strip=156 cut=b | AV156b Gem=A_V strip=157 cut=b | AV157b
Entries 9147 Entries 9147 Entries 9147
E Mean -1.138 Mean -3.202 E 1] Mean -3.208
F RMS 26.1 RMS 28.92 E RMS 29.83
- - -1 x2/ndf 85.77 /41 IR X%/ ndf 90.55 /39 [ o Ix%/ndf 158.5/44
I . cee-aio--{ ampl 443+62 | L. .. ceeeeiie..fampl 456.8 6.2 I | DU .. .. .Jampl 419.9+5.9
ped -2.513+0.088 ped -4.808 + 0.087 ped -4.573+ 0.095
107 sig 8.069 + 0.077 sig 7.81+ 0.07 107 sig 8.428 + 0.081
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Gem=A_V strip=158 cut=b | AV158b Gem=A_V strip=159 cut=b | AV159b
Entries 9147 Entries 0
Mean -1.072 Fo---- PR RREREEEEE: we--e----e--- 4 Mean 0

RMS 11.99
X2/ ndf 164.4 1 42
ampl 456.9+ 6.6
ped -1.448+ 0.084
:4 sig 7.716 + 0.077
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Gem=A_V strip=160 cut=b | AV160b Gem=A_V strip=161 cut=b | AV161b Gem=A_V strip=162 cut=b | AV162b

Entries 0
""" 0 [ ey Mean
0
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Gem=A_V strip=163 cut=b | AV163b Gem=A_V strip=164 cut=b | AV164b Gem=A_V strip=165 cut=b | AV165b
Entries 0 Entries 0 Entries 0
e Mean 0 F----- [EREETER IEEEREEPE +e-------2---1 Mean 0 e Mean 0
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Gem=A_V strip=166 cut=b | AV166b Gem=A_V strip=167 cut=b | AV167b
Entries 0 Entries 0
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Gem=A_V strip=168 cut=b | AV168b Gem=A_V strip=169 cut=b | AV169b Gem=A_V strip=170 cut=b | AV170b

Entries 0
""" 0 [ ey Mean
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Gem=A_V strip=171 cut=b | AV171b Gem=A_Vstrip=172 cut=b | AV172b Gem=A_V strip=173 cut=b | AV173b
Entries 0 Entries 0 Entries 0
e Mean 0 F----- [EREETER IEEEREEPE +e-------2---1 Mean 0 e Mean 0
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Gem=A_V strip=174 cut=b | AV174b Gem=A_V strip=175 cut=b | AV175b
Entries 0 Entries 0
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Gem=A_V strip=176 cut=b | AV176b Gem=A_V strip=177 cut=b | AV177b Gem=A_V strip=178 cut=b | AV178b

Entries 0
""" 0 [ ey Mean
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Entries 0 Entries
0 oo PR EEEEEEEEEEEEEEERPEERE 1Ll

10° | 10° |

10 10

B P N S T A B 7 T I T A T ol
0 200 400 600 800 1000 0 200 400 600 800 1000 0 200 400 600 80 1000
Gem=A_V strip=179 cut=b | AV179b Gem=A_V strip=180 cut=b | AV180b Gem=A_V strip=181 cut=b | AV181b
Entries 0 Entries 0 Entries 0
e Mean 0 F----- [EREETER IEEEREEPE +e-------2---1 Mean 0 e Mean 0
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Gem=A_V strip=182 cut=b | AV182b Gem=A_V strip=183 cut=b | AV183b
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Gem=A_V strip=184 cut=b | AV184b Gem=A_V strip=185 cut=b | AV185b Gem=A_V strip=186 cut=b | AV186b

Entries 0
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Gem=A_V strip=187 cut=b | AV187b Gem=A_V strip=188 cut=b | AV188b Gem=A_V strip=189 cut=b | AV189b
Entries 0 Entries 0 Entries 0
e Mean 0 F----- [EREETER IEEEREEPE +e-------2---1 Mean 0 e Mean 0
0

10? 10% E

10 10

A N N B B
0 200 400 600 800 1000

. S N/ T A D o R
0 20! 400 600 800 1000 0 200 400 600 800 1000

10t b2
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